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Interactive Math Glossary 

Partial	
  Products	
  Non-­‐example	
  

We	
  will	
  solve	
  this	
  problem	
  by	
  repeated	
  grouping.	
  In	
  this	
  problem,	
  we	
  know	
  we	
  have	
  three	
  groups	
  of	
  
four.	
  We	
  will	
  first	
  create	
  one	
  group	
  of	
  four.	
  We	
  still	
  need	
  two	
  more	
  groups	
  of	
  four.	
  We	
  now	
  have	
  three	
  
groups	
  of	
  four.	
  Our	
  three	
  groups	
  of	
  four	
  equal	
  twelve,	
  or	
  three	
  times	
  four	
  equals	
  twelve.	
  
	
  	
  
	
  


